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Test Questions 2 Test Assignments

Question 1   Primary 3 Math » Primary 3 Math (Term 3) 1 pt

The height of a refrigerator is about _________

A) 17 cm

B) 17 m 

C) 170 cm 

D) 170 m

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 11th Jun 2020
Last Modified: N/A
QID#: 21,643,474

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 2   Primary 3 Math » Primary 3 Math (Term 3) 1 pt

The mass of a mango is about _____

A) 23 g

B) 23 kg

C) 230 g

D) 230 kg

Question Type: Multiple Choice
Randomize Answers: No
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Question 3   Primary 3 Math » Primary 3 Math (Term 3) 1 pt

Express 350 cm in metres and centimetres.

A) 3 m 5 cm

B) 3 m 50 cm

C) 30 m 5 cm

D) 30 m 50 cm

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 11th Jun 2020
Last Modified: Thu 11th Jun 2020
QID#: 21,643,505
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Question 4   Primary 3 Math » Primary 3 Math (Term 3) 1 pt

Express 6 ℓ 4 ml in millilitres.

A) 604 ml

B) 640 ml

C) 6004 ml

D) 6400 ml

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 11th Jun 2020
Last Modified: Thu 11th Jun 2020
QID#: 21,643,538

 Answers
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Question 5   Primary 3 Math » Primary 3 Math (Term 3) 1 pt

Express 2017 g in kg and g.

A) 2 kg 17 g

B) 2 kg 170 g

C) 20 kg 17 g

D) 20 kg 170g
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Question 6   Primary 3 Math » Primary 3 Math (Term 3) 1 pt

Accepted answers:

1 km 890 m

1km 890m

1km890m

1 Km 890M

Question Type: Free Text
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Last Modified: Sat 13th Jun 2020
QID#: 21,643,601
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Question 7   Primary 3 Math » Primary 3 Math (Term 3) 1 pt
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Accepted answers:

2 kg 300 g

2kg 300g

2kg300g

2 , 300

2,300

2, 300

2 300
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Question 8   Primary 3 Math » Primary 3 Math (Term 3) 1 pt

345 cm - 82 cm = ____ m ____ cm

Accepted answers:

2 m 63 cm

2m63cm

2m 63 cm

2M 63CM

2 63

2,63

2, 63
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Question 9   Primary 3 Math » Primary 3 Math (Term 3) 1 pt
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Accepted answers:

1300 ml

1300ml

1300

Question Type: Free Text
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Question 10   Primary 3 Math » Primary 3 Math (Term 3) 1 pt

The total mass of the packet of sugar and the packet of flour is _____ g.


Accepted answers:

2210 g

2210g

2210

2210grams

2210 Grams

Question Type: Free Text
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QID#: 21,643,659
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Question 11   Primary 3 Math » Primary 3 Math (Term 3) 1 pt

What mass of cookies must be added to make 2kg?


Accepted answers:

1250 g

1250g

1250

1250grams

1250 Grams

Question Type: Free Text
Date Added: Thu 11th Jun 2020
Last Modified: Sat 13th Jun 2020
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Question 12   Primary 3 Math » Primary 3 Math (Term 3) 2 pts

The container below contains some fruit punch. All the fruit punch is poured into 2 identical cups and a
jug. How much fruit punch is there in the jug.


Accepted answers:
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540 ml

540ml

540

540 millilitres

540millilitres
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Question 13   Primary 3 Math » Primary 3 Math (Term 3) 2 pts

Sarah placed four items on a weighing scale. What was the mass of the bag of sugar?

Accepted answers:

1365 g

1365g

1365

1365Grams

1365 grams

1365 gram

1365Gram

Question Type: Free Text
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Question 14   Primary 3 Math » Primary 3 Math (Term 3) 2 pts

When Sam stands on a 20-cm high block, he is 9cm taller than Keith. Keith ia 148cm tall. What is the
heigh of Sam?


Accepted answers:

137 cm

137cm

137

137 centimetres

137centimetres

Question Type: Free Text
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Last Modified: Sat 13th Jun 2020
QID#: 21,643,840

 Answers
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Question 15   Primary 3 Math » Primary 3 Math (Term 3) 4 pts

The total mass of a box and 2 similar packets of milk is 1180 g.

The total mass of the box and 5 similar packets of milk is 2170 g.

What is the mass of the box when it is empty?

Accepted answers:

540 g

540g

540

540grams

540gram

540 GRAMS

540 GRAM
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Question 16   Primary 3 Math » Primary 3 Math (Term 3) 2 pts

Mrs Chan has two jugs of orange juice.
Jug A contains 3 ℓ of orange juice.

Jug B contains 1700 ml of orange juice.


(a) What is the total amount of orange juice in Jug A and Jug B?

     Express your answer in millilitres.

Accepted answers:

4700 ml

4700ml

4700

4700 mililitres

4700mililitres

Question Type: Free Text
Date Added: Thu 11th Jun 2020
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 Answers
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Question 17   Primary 3 Math » Primary 3 Math (Term 3) 2 pts

Mrs Chan has two jugs of orange juice.
Jug A contains 3 ℓ of orange juice.

Jug B contains 1700 ml of orange juice.


(b) How much orange juice must Mrs Chan pour from Jug A to Jug B so that both jugs have the same
amount of orange juice? Express your answer in millilitres.

Accepted answers:

650 ml

650ml

650

630 ML

650Mililitres

650 Mililitres

650Mililitre

650 Mililitre
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